P 2L d https://lwww.pass2lead.com/ctfl_uk.html
ass ea 2024 Latest pass2lead CTFL_UK PDF and VCE dumps Download

https://Pass2Lead.com

CTFL UKQ&As

ISTQB Certified Tester Foundation Level

Pass ISQI CTFL_UK Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/ctfl_uk.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by ISQI Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

CTFL_UK Practice Test | CTFL_UK Study Guide | CTFL_UK Exam Questions 1/4


https://www.pass2lead.com/ctfl_uk.html
https://www.pass2lead.com/ctfl_uk.html
https://www.pass2lead.com/ctfl_uk.html

P 2L d https://lwww.pass2lead.com/ctfl_uk.html
aSS ea 2024 Latest pass2lead CTFL_UK PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Considerable attention will be given in this project to defining exit criteria and on reporting back on their status. Which
combination of TWO exit criteria from the list would be best to use? 1 credit

I. Total number of defects found

Il. Percentage of test cases executed

lll. Total test effort planned versus total actual test effort spent

V.

Defect trend (number of defects found per test run over time

A

(i) and (ii)

B.

() and (iv)

C.

(ii) and (iii)

D.

(i) and (iv)

Correct Answer: D Scenario 2 "Reviews"

A software development organization wants to introduce some specific improvements to its test process. Currently, most
of their testing resources are focussedon system testing. They are developing embedded software, and do not have a

simulation environment to enable them to execute software modules on the development host. They have been advised
that introducing inspections and reviews could be the most appropriate step forward.

QUESTION 2

As a result of the RAD based development approach, the test manager has decided to change the risk mitigation
approach. Which test technique might be most appropriate to use? 2 credits

A. Decision Table Testing
B. Boundary Value Analysis
C. Error Guessing

D. Exploratory Testing

Correct Answer: D
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QUESTION 3

Which of the following is a characteristic of good testing in any life cycle model? 1 credit
A. Analysis and design of tests begins as soon as development is completed.

B. Some, but not all, development activities have corresponding test activities.

C. Each test level has test objectives specific to that level.

D. All document reviews involve the development team.

Correct Answer: C

QUESTION 4

The business has asked for a weekly progress report. Which of the following would be appropriate as a measure of test
coverage? 2 credits

A. Percentage of business requirements exercised

B. Percentage of planned hours worked this week

C. Percentage of countries that have test scenarios

D. Percentage of test iterations completed

Correct Answer: A Scenario 11 "Incident Management"

The following is the current incident handling process in used at the company. Step 1: Incident is documented in the
incident Tile with the following information:

-Software module or area where the fault occurred

-Who has reported the fault

-Hardware configuration used for the test that found the fault

- The sequential incident number (1 greater than the last one recorded)

Step 2: Developer assigned to fix the fault Step 3: Developer fixes the fault Step 4: Developer signs off the incident as
closed, and it is then removed from the incident file

QUESTION 5

Continuing with the Scenario described in the previous question, which of the following topics would you need to
address in detail in the master test plan? 3 credits

A. An approach to regression testing

B. A list of boundary values for "advance amount"

CTFL_UK Practice Test | CTFL_UK Study Guide | CTFL_UK Exam Questions 3/4


https://www.pass2lead.com/ctfl_uk.html
https://www.pass2lead.com/ctfl_uk.html
https://www.pass2lead.com/ctfl_uk.html

P 2L d https://lwww.pass2lead.com/ctfl_uk.html
ass ea 2024 Latest pass2lead CTFL_UK PDF and VCE dumps Download

—— https://Pass2Lead.com

C. A description of dependencies between test cases
D. A logical collection of test cases

Correct Answer: A
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